5.3 HW Answers
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Use this information to solve problems 4, 5, and 6.
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tang=—=-—
24 x

Because r is a distance it is positive.
x4yt =77
242 +77 =17
576+49=r’
625=r?
r=25

sing=—=
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cos2a =cos’ a—sin” o
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9.

cost!ﬁ?zﬁzi
25 r

Because @ lies in quadrant IV, y is negative.

-

X +y =r
247 +y* =257
v =257 -24% =49

y=—/49 =7
Now we use values for x, y, and r to find the
required values.

a. sin28=2sin@cosf
_2[_ ?] 24) 336
U5 )\ 25) 625
b. cos28=cos’@—sin’ @

(&)%)

576 49 527

625 625 605

1. cotf=2="2=2
-1y
Because ris a distance, it is positive.
ro=x"+y
r?=(=2)* +(-1)°
r’=5
r=5

Now we use values for x, y, and r to find the
required values.

a. sin2@=2sinfcosl

R

13. sir16'=—i=ﬁ=l
41 41 r

Because @ lies in quadrant III, x is negative.

2, .2_ .2
Xty =r

2 +(-9)' =41

x> =1600
x=—J1600
x==40

Now we use values for x, y, and r to find the
required values.
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C.
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b. cos28=cos’>@—sin’ @

c. tan 260 =

b.

C.

0826 = cos” @ —sin>

[ 40) (9
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x=-—40 2 tan 9
Now we use values for x, v, and r to find the c. lan20=

. 1—tan” @
required values.
2%) _ o _w
a.  sin260=2sindcosd = Rk TR TIT)
9\~ S—- ] . 1215
_,(_9)(_40)_ 720 1-(3) 1600 1600
U a)U 41) et _(i]{lﬁﬂ(}]_ 720
20 A 1519 ) 1519
. N . =
15.  The given expression is the right side of the formula 21. The given expression is the right side of the formula
for sin26 with 8 =15°. ) T
25in15°cos 15° = sin(2+15°) for tan26 with 6=
| x A
=sin30°=— [2tanjy = tan 2'£]:tan£:—
s |- [an2 ]L') 12 6 3
17. The given expression is the right side of the formula )
for cos26 with 8=75°. 23, 2tan@ _ 2-307
cos® 75°—sin? 75° = cos(2-75°) 1+tan’ @ C"-‘j‘s’ + Sj“:a
" cos“ 8 cosT @
V3 sind
=cos150° =" _ ?L:)Tg
= cos® B+sin” @
Cusz é
2sin @
— _cosé
19. The given expression is the right side of the formula —1_
cos® @
for cos26 with 6= %. 260 cos’0
7 z cos@ 1
2cos'§—1=cos{ E] =2sinf@cos
=sin 268

5

T
=COS—=
4 7
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25.

27.

30.

31.

(sin @+ cos @)” =sin’ @+ 2sin @cos O +cos” &

=sin> @+cos” B+ 2sinBcos O

=1+2sinfcos@
=1+sin28

. 2 .2 2 .2
SN~ X+Ccos2x=sin" X+cos” x—sin~ x

= (.'082 X

I+cos2x 1+ cos” x—sin x

sin 2x 28in Xcos x

_ ]—f-;in2 .r+c052 X

2sin xcos x

_ C052 )If-l-COS2 X

2sin xcos x

2(:052 X

2sin xcos x
CcoS X

sin x
=colx

sint
tanfcos 2t = —-(2(:052 r— ])
cost

. 2 .
_ 2sintcos™ 1 sint

cost cost
=2sinfcost—tant

=sin 2t —tant
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28. cos2x _ ]—25in2 X

0082 X C052 X

_ 1 —sin2 .r—sirl2 X

Cl)Sz X
_ cos” x—sin” x

2

Cos™ X

cos2 X sin2 X
0052 X cos2 X

=I—Lan2x

sin 2x 2s8Iin X Ccos X
29,

1—cos2x ]—((;os;2 x—sin’ x)

2sin xcos x

I B
1—cos” x+sin”

2sin xcos x
N .2
sin~+sin”~ x
_ 2sinxcosx
- . 2
2s8in” x
CoS X

Sin x
=colx



